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Note .— The question paper is divided into two Sections

A and B. Section—A contains 8 Very Short Answer
Type Questions. Examinees have to attempt any
Jour questions. Each question is of 1% marks and
maximum word limit may be 30 words. Section—
B contains 8 Short Answer Type Questions.
Examinees will have to answer any four questions.
Each question is of 10 marks. Examinees have
to delimit each answer in maximum 200 words.
Use of non-programmable scientific calculator is

allowed in this paper.
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Section—-A 1%x4=7
(Very Short Answer Type Questions)

Gug—31

(a1fa &g 3T uv)

If sequence {z,} converges to a, then prove
that subsequence {an} of sequence {z,} also

converges to a.
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(ii) State Jordan curve theorem. (n+1)

N\t n
) | Sroft Z(n+2)(n+3)z F et e
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1 . )
(iii) Prove that f(z) T, is not uniformly (vii) Give an example of isogonal mapping which

continuous in domain |z| < 1. 1s not conformal.

fag Fifsw foe o= |z < 1 # f(z):l THEHEH TE wfafesor &1 seeer ifse St geEs

zZ

yfafestor & wR ST giafesor T8 @)
Taq el T

(viii) Define removable singularity.

A9 fafestar =1 aRefm ifs

(iv) Prove that function # = cos x.cosh y is

harmonic.
fog =iy % we™ u = cos x.cosh y FHawRT Section-B 4x10=40
2l (Short Answer Type Questions)
(v) Define conditional convergence of power s —d
series. (g IO q99)
HE 2ol & weE AR 6 qffi wifse 2. Prove that if lim f(z) exists then it is unique.
Z—)ZO
(vi) Find radius of convergence of : .
& fs W 5 AR lim £ (z) Foemm A, 9 e
Z (7’1+1) Zn Z—)ZO
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A § i

2sin2x
(e?? +e72Y —2¢082x)

u+v=

and fz) = u + iv is an analytic function then find
f(2) in terms of z.

RIS

2sin2x

U+v=—s 5
(e +e“” —2c0s2x)

AN f(2) = u + iv T Tavaioen ®od & a1 f(2) & 2
< H T i

az+b
cz+d

. Prove that bilinear transformation w = is
joint transformation of basic transformation.

az+b

fag =ifs fo& ffifes wommo w=

HeAd

cz+d
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. Describe singularities of function f(z)=

5. State and prove Cauchy’s Integral Formula.

FHISt TGRS A H FAT T GG HIGQ |

. State and prove Taylor’s theorem.

IR YHT Sl hU X GG Hifemw|

1
z(e? -1)

and expand function for 0 < |z| < 2m.

1

z(e® —1)

=1 fafesaet =1 fae=m w@

we f(z)=

TCO < |z| <21 & fAU weA &1 TER HIFST

. Prove that all roots of equation z/ — 523 + 12 = 0

are lie between concentric circles C; : [z| =1
and C, : |z] = 2.

foag IR fF e 27 - 523 + 12 = 0 % =+t 7t
e gl Cp @ |zl =1 WG, : |z| =2 % 784
feera €1
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9. Prove by line integral :

[ acos® d6:2na{1— ¢ },a>1

-Tg+cos0 ‘/az—l
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-Tg+CosO /az_l

MT-08 / 7 (7) 558



